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Compartmental models in epidemiology:
https://en.wikipedia.org/wiki/Compartmental models in_epidemiology
OpenCV-Python Tutorials:
https://opencv-python-tutroals.readthedocs.i0/en/latest/py tutorials/py tutorials.html

2-D Fast Fourier Transform:
https://www.mathworks.com/help/matlab/ref/fft2.html

Correlation Coefficients:
https://www.mathworks.com/help/matlab/ref/corrcoef.html
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VAR IE ==V
ffgk (—) ¢ E@E4 T #5pE 5 python opencv
import cv2
Import numpy as np
img = cv2.1mread("Resources/30-30 1slanted frame.jpg")
cv2.1mshow("org",1mg)
width, height = 260,260
ptsl = np.float32([[967, 374], [1051, 373], [1051, 477], [963, 478]])
pts2 = np.float32([[0,0],[width,0],[width,height],[0,height]])
matrix = cv2.getPerspectiveTransform(pts1,pts2)
1mg_warp = cv2.warpPerspective(img,matrix,(width,height))
cv2.1mshow("output",img_warp)
1img_gray = cv2.cvtColor(img_warp,cv2.COLOR_BGR2GRAY)
cv2.1mshow("gray",img_gray)
(thresh,img WB) = cv2.threshold(img_gray, 130, 255, cv2. THRESH BINARY)
cv2.1mshow("wb",img WB)
cv2.waitKey(0)
A =np.zeros((13,13),dtype=int)
x=0,y=0, a=1nt(width/ 26)
print(a)
b = int(height/ 26)
print(b)
pixel = 1mg WBJa,b]
print(pixel)
while x <= 12:
while y <= 12:
pixel = 1mg WBJa,b]
#print(pixel)
if pixel == 255:
Alx,y]=0
else:
Alxyl=1
b =int(b + height / 13)
y+=1
#print(A)
b = mnt(height/26) , y =0, a = int(a + width/13)
Xx+=1
20



print (A)
import xIsxwriter
import cv2
Import numpy as np
count a =1
cap_a = cv2.VideoCapture('Resources/30-30_1slanted 2.mp4')
survive a = np.zeros((13, 13), dtype=float)
while cap_a.1sOpened():
ret, img_a = cap_a.read()
if ret == True:
count_a =count_a + 1
if count a % 3 ==0:
width_a, height a = 260, 260
ptsl_a = np.float32([[809, 178], [889, 179], [886, 273], [804, 273]])
pts2_a = np.float32([[0, 0], [width_a, O], [width_a, height a], [0, height_a]])
matrix_a = cv2.getPerspective Transform(pts] a, pts2 a)
1mg warp_a = cv2.warpPerspective(
1mg_a, matrix_a, (width_a, height a))
img gray_a = cv2.cvtColor(img warp a, cv2.COLOR _BGR2GRAY)
xa=0,y a=0,a a=int(width a/26), b _a = inttheight a/26)
pixel a=1mg gray afa a, b a]
while x_a<=12:
whiley a<=12:
pixel a=1mg gray afa a, b a]
if pixel a <= 132:
survive_a[x_a,y_a] =count_a/ 30
b a=1nt(b_a + height a/13)
ya+=1
b_a =int(height a/26),y a=0,a a=1nt(a_a+ width_a/13)
x a+=1
else:
break
print(int(count_a))
print(survive a)
cap_a.release()
cv2.destroyAllWindows()
workbook a = xIsxwriter. Workbook(‘arrays1.xlsx")
worksheet a = workbook a.add worksheet()
row =0
for col, data in enumerate(survive a):
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worksheet_a.write_column(row, col, data)
workbook_a.close()
count b=1
cap_b = cv2.VideoCapture('Resources/30-30 1slanted.mp4')
survive b = np.zeros((13, 13), dtype=float)
while cap_b.1sOpened():
ret, img_b = cap_b.read()
if ret == True:
count_ b =count b + 1
if count b % 3 ==0:
width_b, height_b =260, 260
ptsl_b = np.float32([[804, 273], [886, 273], [882, 372], [796, 371]])
pts2_b = np.float32([[0, O], [width_b, 0], [width_b, height b], [0, height b]])
matrix_b = cv2.getPerspectiveTransform(ptsl b, pts2 _b)
1mg_warp_b = cv2.warpPerspective(
img_b, matrix_b, (width b, height b))
mmg_gray_b = cv2.cvtColor(img warp b, cv2.COLOR_BGR2GRAY)
xb=0,y b=0,a b=int(width b/26), b b =inttheight b /26)
pixel b=1mg gray bla b, b b]
while x b<=12:
whiley b<=12:
pixel b=1mg gray bla b, b b]
if pixel b <= 132:
survive_b[x_b, y_b] = count b/ 30
b b =1nt(b_b + height b/ 13)
y b+=1
b_b = int(height b/26),y b=0,a b=1nt(a_b + width b/ 13)
xb+=1
else:
break
print(int(count_b))
print(survive b)
cap_b.release()
cv2.destroyAllWindows()
workbook b = xlsxwriter.Workbook('arrays2.x1sx")
worksheet b = workbook b.add worksheet()
row =0

for col, data in enumerate(survive b):
worksheet b.write_column(row, col, data)
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workbook_b.close()
count ¢ =1
cap_c = cv2.VideoCapture('Resources/30-30_1slanted.mp4')
survive ¢ =np.zeros((13, 13), dtype=float)
while cap_c.1sOpened():
ret, img_c = cap_c.read()
if ret == True:
count_c =count ¢ + 1
if count ¢ % 3 ==0:
width_c, height_c =260, 260
ptsl_c = np.float32([[796, 371], [882, 372], [876, 477], [187, 476]])
pts2_c = np.float32([[0, 0], [width_c, 0], [width_c, height_c], [0, height_c]])
matrix_c = cv2.getPerspective Transform(pts] c, pts2 c¢)
1mg_warp_c = cv2.warpPerspective(
1mg_c, matrix_c, (width_c, height c))
img_gray c = cv2.cvtColor(img warp c, cv2.COLOR _BGR2GRAY)
x c=0,y c=0,a c=int(width c¢/26),b _c =inttheight c/26)
pixel ¢ =1mg gray cla_c, b c]
while x_c¢c <=12:
whiley ¢ <=12:
pixel ¢ =1mg gray c[a_c, b c]
if pixel ¢ <=128:
survive _c[x ¢,y _c] =count _c /30
b ¢ =1nt(b_c + height ¢/ 13)
yc+=1
b_c = int(height ¢/26),y c=0,a c=1nt(a_c + width_c/13)
x c+=1
else:
break
print(int(count_c))
print(survive c)
cap_c.release()
cv2.destroyAllWindows()
workbook ¢ = xlsxwriter.Workbook(‘arrays3.xlsx")
worksheet ¢ = workbook c.add worksheet()
row =0
for col, data in enumerate(survive c):
worksheet c.write_column(row, col, data)
workbook c.close()
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#include <iostream>

#include <fstream>

#include <string>

#include <sstream>

using namespace std;int norm = 39;

int main(int argc, char const *argv[]){string file = "C:\\Users\\tengw\\Desktop\\special39.csv";cout << file
<< endl;ifstream input(file.c_str());string line;int b[norm][norm], m = 0, max =

0;while(!input.eof)){ getline(input, line);if(!input.eof()){int pos2 = -1; for(int 1 = O;i<norm;i++){if(i <
norm - 1){int pos = line.find(',"); string x = line.substr(pos2 + 1, pos - pos2 - 1);  stringstream ss;ss <<
x;8s >> b[m][1];line[pos] = (char) 32;pos2 = pos; }Jelse{string y = line.substr(pos2 + 1);stringstream ss;ss
<< y;88 >> b[m][norm - 1];} if(b[m][i] > max){max = b[m][i];} }cout << line << endl;m++;} }ofstream
outData;outData.open("SR.csv", 10s::app); outData << "Time" << "," << "Survival Rate" << endl;cout
<< max << endl;int k = 0;bool yes = true; while(yes){int n = O;for(int 1 = 1;1 < norm - 1;1++){for(int j = 1;]
<norm - 1;3++H){1f(b[1][5] >= k/8){n++;} } JoutData << (double) k/8 << "," << (double) n/((norm -
2)*(norm - 2)) << "," << n << endL;k++; 1f(n == 0){yes = false;} } input.close(); return 0;}

ffR(=) * AHEAMEHT 5 matlab
M = xlIsread('30-30 2vertical 0.1.xIsx', '39-39");A = zeros(13);Rbase = M(7:33,7:33);
Rbase2=zeros(39);Rvary2=zeros(39;x=1;y=1;pickx=1;picky=1;
while x<=13
while y<=13
Rvary=M(x:x+26,y:y+26);
while pickx<=27
while picky<=27
matrixcor=M (pickx:pickx+12, picky:picky+12);
Avg=sum(sum(matrixcor))/169;
Rvary2(pickx,picky)=Rvary(pickx,picky)-Avg;
Rbase2(pickx,picky)=Rbase(pickx,picky)-Avg;
picky = picky+1;
end
picky=1;pickx=pickx+1;
end
r=corrcoef(Rbase2, Rvary2);Rbase2=zeros(39);Rvary2=zeros(39);
Ax,y)=r(1,2); y=y+1; pickx=1;picky=1;
end
y=1; x=x+1;
end

fifge(d) - NUERBEPESERK  Crt
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#include <iostream>
#include <fstream>
#include <string>
#include <sstream>
#include <iomanip>
using namespace std;int norm = 39;
int determine(int num, 1nt in[8]){int count = O;while(in[0] == 0 && count < &){int media = O;int
medium;for(int 1 = 051 < 8;1++){medium = in[7 - i];in[7 - 1] = media;media = medium; }count++; }if(num
== 0){return 0; }else if(num == 1){if(count % 2 == 0){return 1;}else{return 2;} }else if(num ==
D{ifGn[1] + in[7] > 0){return 3;}else if(in[2] + 1n[6] > 0){if(count % 2 == 0){return 4; }else{return
6;} telse if(in[3] + in[5] > 0){return 7;}else{if(count % 2 == 0){return §;}else{return 5;}} Jelse if(num ==
3H{ifn[2] + in[4] + in[6] > 1){if(count % 2 == 0){return 15;}else{return 16;} }else if(in[2] + in[3] == 1
&& 1n[6] + 1n[5] == D{if(n[2] + in[6] == 1){if(count % 2 == 0){return 17;}else{return
18;} Jelsef{if(count % 2 == 0){return 18;}else{return 17;} }}else if(in[1] + in[2] == 2lin[7] + in[6] ==
) {if(count % 2 == 0){return 9; }else{return 10;} }else 1f(an[1] + in[7] == 2){return 10;}else 1f(in[1] + 1n[7]
== 0){1f(in[2] + 1n[6] == 1){1f(count % 2 == O0){return 14;}else{return 11;} }else{if(count % 2 ==
0){return 12;}else{return 13;}} Jelse 1f(in[4] > 0){if(count % 2 == 0){return 12;}else{return 13;} }else
ifGn[1] + 1n[5] == 2hin[7] + 1n[3] == 2){if(count % 2 == 0){return 13;}else{return 12;} Jelse{if(in[2] +
m[6] == 1){if(count % 2 == 0){return 14; }else{return 11;} }else{if(count % 2 == 0){return
11;}else{return 14;}}}}Jelse if(num == 4){1f(in[2] + in[4] + 1n[6] == 3){if(count % 2 == 0){return
30; Jelse{return 31;} Jelse if(in[4] == 1 && (n[1] + in[5]) % 2 == 0 && 1n[2] + 1n[6] == 0){return
25;}else if(in[7] + n[6] == 2 && n[2] + 1n[3] + in[4] == 0){return 19;}else if(n[1] + In[2] == 2 &&
mn[6] + 1n[5] + in[4] == 0){return 19;}else if(Gn[1] + in[7] == 1 && 1n[2] + 1n[6] == 0 && 1n[4] ==
D{if(count % 2 == 0){return 24; }else{return 26;} Jelse if(n[1] + in[7] == 1 && 1n[1] + in[2] == 1 &&
m[7] +in[6] == 1 && (n[1] +1n[5]) % 2 == 0 && (n[3] + 1n[7]) % 2 == 0){ if(count % 2 == 0){return
26;}else{return 24;} }else if(in[1] + in[7] == 0 && 1n[2] + 1n[6] == 0){if(count % 2 == 0){return
23;}else{return 21;} felse if(in[1] + in[2] != 1 && in[6] + 1n[7] = 1 && 1n[3] + in[5] == D){if(count % 2
== 0){return 21;}else{return 23;} }else 1f(in[2] + 1n[6] + 1n[3] + 1n[5] == O){return 23;}else 1f(in[2] + 1n[6]
+1n[4] == 0 && 1n[3] + 1n[5] == 1){return 22;}else if(n[1] + in[2] == 2llin[2] + in[3] + in[4] == 3lin[5]
+ 1n[6] + 1n[4] == 3llin[6] + 1n[7] == 2){if(count % 2 == 0){return 20; }else{return 22;} Jelse 1f(in[4] ==
Hhn[1] + in[5] == 2Mlin[2] + in[6]== 2lin[3] + in[7] == 2){if(in[1] + 1n[7] == 0){if(count % 2 == 0){return
29; Jelse{return 27;} felse{1f(in[4] == 1){if(count % 2 == 0){return 29; }else{return 27;} }else{if(count % 2
== 0){return 27;}else{return 29;}}} Jelse{return 28;}}}
int opposite(int dig, int ob[8]){for(int 1 = 0;1 < 8;1++){1f(ob[1] == 0){ob[1] = 1;}else{ob[1] = 0;} }return 50 -
determine(8 - dig, ob);}
int main(int argc, char const *argv[]){string filename = "C:\\Users\\tengw\\Desktop\\flat3.csv";ifstream
mput(filename.c_str());string line;int a[norm][norm];int m = 0, max = O;while(!input.eof()){ getline(input,
line);1f('input.eof () {int pos2 = -1; for(int 1 = 0;1 < norm;1++){ 1f(1 < norm - 1){int pos = line.find(',");string
x = line.substr(pos2 + 1 , pos - pos2 - 1);stringstream ss;ss << x;ss >> a[m][1];line[pos] = (char) 32;pos2 =
pos; felse{string y = line.substr(pos?2 + 1);stringstream ss;ss << y;ss >> a[m][norm - 1]; }if(a[m][1] >
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max){max = a[m][i];} Jcout<<line<<endl;m++;}} cout<<max<<endl;ofstream
outData;outData.open("shapes over time.csv", 10s::app);outData << ",";for(int 1 = 0;1 < 51;1++){ outData
<< 1<< "";}outData << endl; for(int k = 0;k < max;k++){int 1 = O;int f[51] = {0};for(int 1 = 1;1 < norm -
Li++){for(int j = 1;j < norm - 1;7++){int b[&] = {0};int x = a[i][j];int n = 0;if(k <= x){if(afi - 1][7- 1] >

K) {n++;b[0]++; }if(a[i - 11[3] > k) {n++;b[1]++; }if(afi - 1][; + 1] > K {n++:b[2]++;} if(a[i][j - 1] >

K) {n++;b[7]++; }if(a[i][j + 1] > k) {n++;b[3]++; }if(@afi + 1][7 - 1] > k) {n++:;b[6]++;} if(a[i + 1][5] >

K {n++:b[5]++; Jif(a[i + 11[5 + 1] > K {n++;b[4]++; }++;if(n <

S){f[determine(n,b)]++; }else{f[opposite(n,b)]++;} } } JoutData << k << ",";for(int 1 = 0;1 < 51;1++){outData
<< f[1] << ",";} outData << endl; }input.close();return 0;}

f$R(T) = JUEAS BN 5 C++

#include <iostream>

#include <fstream>

#include <string>

#include <sstream>

#include <iomanip>

using namespace std;int norm = 39;

it determine(int num, int 1n[&]){int count = O;while(in[0] == 0 && count < 8){int media = O;int

medium;for(int 1 = 0;1 < 8;1++){medium = in[7 - 1];1n[7 - 1] = media;media = medium; Jcount++; }if(num

== 0){return O; }else if(num == 1){1f(count % 2 == 0){return 1;}else{return 2; } }else if(num ==

D{ifGn[1] + in[7] > 0){return 3;}else if(in[2] + 1n[6] > 0){if(count % 2 == 0){ return 4; }else{return

6;} telse if(in[3] + in[5] > 0){return 7;}else{if(count % 2 == 0){return &;}else{return 5;}} Jelse if(num ==

3){if(n[2] + in[4] + in[6] > D{if(count % 2 == 0){return 15;}else{return 16;} telse if(in[2] + in[3] == 1

&& 1n[6] + 1n[5] == D{if(n[2] + in[6] == 1){if(count % 2 == 0){return 17;}else{return

18;} Jelse{1f(count % 2 == 0){return 18;}else{return 17;} } }else if(in[1] + 1n[2] == 2lin[7] + 1n[6] ==

) {if(count % 2 == 0){return 9; }else{return 10;} }else 1f(Gn[1] + m[7] == 2){return 10;}else 1f(in[1] + in[7]

== 0){1f(in[2] + 1n[6] == 1){1f(count % 2 == O0){return 14;}else{return 11;} }else{if(count % 2 ==

0){return 12;}else{return 13;}} Jelse 1f(in[4] > 0){if(count % 2 == 0){return 12;}else{return 13;} Jelse

ifGn[1] + 1n[5] == 2Ihn[7] + 1n[3] == 2){if(count % 2 == 0){return 13;}else{return 12;} Jelse{if(in[2] +

n[6] == 1){if(count % 2 == 0){return 14; }else{return 11;} }else{if(count % 2 == 0){return

11;}else{return 14;}}}}else if(num == 4){1f(in[2] + in[4] + 1n[6] == 3){if(count % 2 == 0){return

30; felse{return 31;} Jelse 1f(in[4] == 1 && (n[1] + 1n[5]) % 2 == 0 && 1n[2] + 1n[6] == 0){return

25;}else if(n[7] + 1n[6] == 2 && 1n[2] + 1n[3] + 1n[4] == 0){return 19;}else 1f(in[1] + 1n[2] == 2 &&

m([6] + 1n[5] + in[4] == 0){return 19;}else if(in[1] + in[7] == 1 && m[2] + 1n[6] == 0 && 1n[4] ==

D{if(count % 2 == 0){return 24;}else{return 26;} felse if(in[1] + in[7] == 1 && in[1] + n[2] == 1 &&

m[7] + n[6] == 1 && (n[1] + 1n[5]) % 2 == 0 && (n[3] + 1n[7]) % 2 == 0){ 1f(count % 2 == 0){return

20; Jelse{return 24;} felse if(in[1] + in[7] == 0 && 1n[2] + in[6] == 0){if(count % 2 == 0){return

23;}else{return 21;} Jelse ifGn[1] + 1n[2] != 1 && in[6] + in[7] = 1 && 1n[3] + 1n[5] == 1){if(count % 2

== 0){return 21;}else{return 23;} Jelse 1f(in[2] + 1n[6] + 1n[3] + 1n[5] == O){return 23; }else 1f(in[2] + 1n[6]

+1n[4] == 0 && m[3] + 1n[5] == D){return 22;}else if(n[1] + in[2] == 2lin[2] + 1[3] + in[4] == 3lin[5]
26



+1n[6] + in[4] == 3llin[6] + in[7] == 2){if(count % 2 == 0){return 20; }else{return 22;} }else if(in[4] ==
Hin[1] + in[5] == 2llin[2] + in[6]== 2llin[3] + in[7] == 2){if(in[1] + in[7] == 0){if(count % 2 == 0){return
29; }else{return 27;} Jelse{if(in[4] == 1){if(count % 2 == O){return 29; }else{return 27;} }else{if(count % 2
== 0){return 27;}else{return 29;}}} Jelse{return 28;}}}

int opposite(int dig, int ob[8]){for(int 1 = 0;1 < 8;1++){if(ob[i] == 0){ob[i] = 1;}else{ob[i] = 0;} }return 50 -
determine(8 - dig, ob);}

int main(int argc, char const *argv[]){string filename = "C:\Users\\tengw\\Desktop\\flat3.csv";ifstream
input(filename.c_str()); string line; int a[norm][norm];int m = 0, max = O;while(!input.cof()){ getline(input,
line);if('input.eof ) {int pos2 = -1;for(int 1 = 0;1 < norm;1++){1f( < norm - 1){int pos = line.find(',"); string
X = line.substr(pos2 + 1, pos - pos2 - 1);stringstream ss;ss << x;ss >> a[m][1]; line[pos] = (char) 32;pos2
= pos; Jelse{string y = line.substr(pos2 + 1);stringstream ss;ss << y;ss >> a[m][norm - 1]; }if(a[m][i] >
max){max = a[m][i];} }cout<<line<<endl;m++;} } cout<<max<<endl; ofstream
outData;outData.open("rupture shape over time.csv", 10s::app);outData << ",";for(int 1 = 051 <
STi++){outData << 1 << ","; JoutData << endl; for(int k = 0;k < max;k++){int 1 = O;int f[51] = {0}; for(int
1=1;1<nom - 1;3++){for(int = 1;j < norm - 1;3++){int b[8] = {0};int x = a[1][j];int n = O;1f(k ==
x){if(afi - 11[5 - 1] > k) {n++;b[0]++; }if(ali - 1][5] > k) {n++;b[1]++; }if(ali - 1][j+ 1] >

K) {n++;b[2]++; Jif(al1][] - 1] > K {n++;b[7]++; Jif@[]l + 1] > K {n++;b[3]++; Jif(ali + 1[5 - 1] >

K) {n++:b[6]++; Jif(a[i + 11[5] > K {n++;b[5]++; }if(ali + 1[5 + 11 > K {n++:b[4]++; } 1++;if(n <
S){fldetermine(n,b)]++; felse{ flopposite(n,b)]++;} } } JoutData << k << ",";for(int 1 = 0;1 < 51;1++){outData
<< f[1] << ",";} outData << endl; }input.close(); return 0;}

FERON) - JUEAS BRI 5 Cr+
#include <iostream>
#include <fstream>
#include <string>
#include <sstream>
using namespace std;int norm = 39;
int determine(int num, int in[&]){int count = O;while(in[0] == 0 && count < 8){int media = O;int
medium;for(int 1 = 0;1 < 8;1++){medium = in[7 - 1];1n[7 - 1] = media;media = medium; Jcount++; }if(num
== 0){return O; }else if(num == 1){1f(count % 2 == 0){return 1;}else{return 2;} }else if(num ==
2D){1ifGn[1] + n[7] > 0){return 3;}else 1f(in[2] + 1n[6] > 0){1f(count % 2 == 0){ return 4; }else{return
6;} telse 1f(in[3] + n[5] > 0){return 7; }else{1if(count % 2 == 0){return 8; Jelse{return 5;}} }else if(num ==
3){if(n[2] + in[4] + in[6] > 1){if(count % 2 == O){return 15;}else{return 16;} }else if(in[2] + 1n[3] ==
&& 1[6] + 1n[5] == 1){1f(n[2] + 1n[6] == 1){1f(count % 2 == 0){return 17;}else{return
18;} Jelse{if(count % 2 == 0){return 18;}else{return 17;} }}else if(in[1] + in[2] == 2lin[7] + in[6] ==
D) {if(count % 2 == 0){return 9; }else{return 10;} }else 1f(n[1] + in[7] == 2){return 10; }else 1f(n[1] + in[7]
== 0){1f(in[2] + 1n[6] == 1){if(count % 2 == O){return 14; }else{return 11;} }else{if(count % 2 ==
0){return 12;}else{return 13;}} }else 1f(an[4] > 0){if(count % 2 == 0){return 12;}else{return 13;} jelse
if(n[1] + 1n[5] == 2lhn[7] + 1n[3] == 2){1f(count % 2 == 0){return 13;}else{return 12;} }else{1f(in[2] +
m([6] == D){if(count % 2 == 0){return 14; }else{return 11;} }else{if(count % 2 == 0){return
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11;}elsef{return 14;}}} Jelse if(num == 4){if(in[2] + 1n[4] + in[6] == 3){if(count % 2 == 0){return

30; Jelse{return 31;} Jelse if(in[4] == 1 && (in[1] + in[5]) % 2 == 0 && in[2] + in[6] == 0){return
25;}else if(in[7] + in[6] == 2 && in[2] + in[3] + in[4] == 0){return 19;}else if(in[1] + in[2] == 2 &&
in[6] + in[5] + in[4] == 0){return 19;}else if(in[1] + in[7] == 1 && in[2] + in[6] == 0 && in[4] ==
D){if(count % 2 == 0){return 24;}else{return 26;} Jelse if(in[1] + in[7] == 1 && in[1] + in[2] == 1 &&
in[7] + in[6] == 1 && (n[1] + in[5]) % 2 == 0 && (in[3] + in[7]) % 2 == 0){ if(count % 2 == 0){return
26; Jelse{return 24;} Jelse if(in[1] + in[7] == 0 && in[2] + in[6] == 0){if(count % 2 == 0){return
23;}Jelse{return 21;} Jelse if(in[1] + in[2] != 1 && in[6] + in[7] != 1 && in[3] + in[5] == 1){if(count % 2
== 0){return 21;}else{return 23;} Jelse 1f(in[2] + in[6] + in[3] + 1n[5] == 0){return 23;}else 1f(in[2] + in[6]
+1n[4] == 0 && in[3] + in[5] == 1){return 22;}else if(in[1] + in[2] == 2lin[2] + in[3] + in[4] == 3llin[5]
+1n[6] + in[4] == 3llin[6] + in[7] == 2){if(count % 2 == 0){return 20;}else{return 22;} Jelse if(in[4] ==
Hin[1] + in[5] == 2llin[2] + in[6]== 2llin[3] + in[7] == 2){if(in[1] + in[7] == 0){if(count % 2 == 0){return
29; Jelse{return 27;} felse{1f(in[4] == 1){if(count % 2 == 0){return 29; }else{return 27;} }else{if(count % 2
== 0){return 27;}else{return 29;}}} Jelse{return 28;}}}

int opposite(int dig, int ob[8]){for(int 1 = 0;1 < 8;1++){1f(ob[i] == 0){ob[i] = 1;}else{ob[i] = 0;} }return 50 -
determine(8 - dig, ob);}

int main(int arge, char const *argv[]){string filename = "C:\\Users\\tengw\\Desktop\\verl.csv";ifstream
mput(filename.c_str());string line;int a[norm][norm];int m = 0, max = O;while('input.eof()){ getline(input,
line);if(linput.eof()) {int pos2 = -1;for(int 1 = 0;1 < norm;i++){1f(i < norm - 1){ int pos = line.find(',");string
X = line.substr(pos2 + 1, pos - pos2 - 1);stringstream ss;ss << x;ss >> a[m][1];line[pos] = (char) 32;pos2 =
pos; felse{ string y = line.substr(pos2 + 1);stringstream ss;ss << y;ss >> a[m][norm - 1];} if(a[m][1] >
max){max = a[m][1];} }Jm++;} }ofstream outData;outData.open("Cabundance.csv", 10s::app);outData << ","
<< "Abundance" << " << "Corrected prob" << endl;int g[51];for(int 1 =
0;1 < S5T;+0){gli] = 0;}int o[51] = {0}; int e[norm - 2][norm - 2];for(int 1 = 1;1 < norm - 1;i++){for(int j =
;)< norm - L;++H){int f[51] = {0};bool hi = true;int k = a[i][j];eli - 1][j - 1] = -1;while(hi){int b[&] =
{0};int n = 0;if(ali - 1](j - 1] > k){b[0] = Lin++; }if(afi - 1][3] > kK){b[1] = 1;n++;}if(afi - 1][j + 1] >
K){b[2] = Lin++; }if(a[i][j - 1] > kK){b[7] = I;n++; }if(a[i][j + 1] > k){b[3] = 1;n++; }if(afi + 1][j - 1] >
K){b[6] = Lin++; }if(ali + 1][5] > k){b[5] = I;n++;}if(a[i + 1][j + 1] > k){b[4] = I;n++;}if(n < 5){int xyz =
determine(n,b); if(efi - 1] - 1] == xyz){f[xyz]++;}else if(e[i - 1][ - 1] == -D{f[xyz]++eli - 1][1- 1] =
xyz; telse{hi = false; } }Jelse{int xyz = opposite(n,b); if(e[i - 1][j - 1] == xyz){{[xyz]++e[i- 1][- 1] =
xyz;telse if(e[1 - 1][7 - 1] == -D{f[xyz]++;el1 - 1][J - 1] = xyz; }else{hi = false; } }k--;1f(k < 0){ h1 =
false;}}gleli - 11[j - 1] +=fleli - 1][; - 1]lsint x = afi][jl;int p = O;int h[8] = {0};if(ali - 11[7 - 11> x){h[0]
= Lip++;} if(ali - 1171 > x){h[1] = Lip++; Jif(ali - 115 + 11> x){h[2] = L;p++;}if(ali][; - 11> x){h[7] =
Lip++;1if(afi[j + 11> x){ h[3] = Lp++;}if(ali + 1[5 - 11> x){ h{6] = Lip++;}if(ali + 1111 > x){h[5] =
Lip++; hif(afi + 115 + 1] > x){h[4] = 1;p++;}if(p <

5){o[determine(p,h)]++; }else{o[opposite(p,h)]++;} } }Hor(int 1 = 051 < S1;1++){outData << 1 << "," << g[i]

<< (double) o[1] / g[1] << endl; cout << 1 << "," << g[1] << endl;} input.close();return

nn

<< "Rupture Occurence" << ",

nn nn

<<""<<ol] << ",
0;}

ffek() © ZHEFEIIEESTHT 5 matlab
28



matrixbase = xlsread('30-30 2flat 0.5.xlsx’, "39-39");x=1;y=1;t=0;M=zeros(39);
maximum=max(max(matrixbase));
while t<= maximum
while x<=39
while y<=39
if matrixbase(x,y) <t
M(x,y)=0;
else
Mx,y)=1;
end
y=y+1;
end
y=1; x=x+1;
end
filename= ['survive',num?2str(t), . xI1sx'];xIswrite(filename, M);t=t+300;x=1; y=1;
end
clear all; close all; clc
matrix = xlsread('30-30 2flat_0.5.x1sx’, 'test1800");
F = fft2(matrix);
% Fourier transform of an image
S = abs(F);
figure(1);1mshow(S,[]);title('Fourier transform of an image');
%get the centered spectrum
Fsh = fftshift(F);
figure(2);1mshow(abs(Fsh),[]);title('Centered fourier transform of Image')
Yapply log transform
S2 = log(1+abs(Fsh));figure(3);imshow(S2,[1);title( {7 5E 53 ¥ BE HALE )
Yreconstruct the Image
F = ifftshift(Fsh);f = ifft2(F);figure(4);imshow(f,[]),title(figy A 1FBE /A7 L HEFE")
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